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Expectation Values: Examples
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1, ¢ Stationary States
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Whyis W(x,t)=¢(x)e % calleda* stationary
state”? o

A. Because the probability density does not change

with time

B. Because all expectation values do not change with
time )

C. Because they have definite total energies

J All of the above

E. None of the above
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I, ; General Solution of the time-dependent Schrodinger
Equation
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Is the linear combination (superposition) of

Stationary states:
4 LIJ(x,t):chLIJn (x,t)

also a solution of the time indsependent
Schrodinger equation  ?
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